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Write two-column proofs.

14. Given: GH L HJ; KJ L HI; LG= /K G
Prove: AGHJ = ANKJH X
15. Given: GH L HJ; KJ L HI;
GJ = KH .
H

Prove: GH = KJ
16. Draw a scalene right triangle ABC with hypotenuse AC. Sketch the alti-
tude from B and the median from A.
17 If f% is the perpendicular bisector of AB, 0
name four things you can conclude about the
diagram.

18. If P is equidistant from Q_f; and QE, then ‘P
lies on 7. A P
19. If QP L AB, then QP is a(n) _?_ of AABQ. Exs. 17-19

20. Supply the reason for each key step. F H |

Given: /L C= /E; CG= EH, [ |
FG L CD; DH L EF

Prove: /3= /4
1. ACGF = ANEHD
2. GF = HD
3. DF=DF
4. AGFD = AHDF i [
5. /3= /4 g—1-@

D

21. Marla tosses a penny six times and gets “tails” on each toss.
a. What might she conclude about the seventh toss?
b. Is it possible that her conclusion isn’t valid? Explain.

Use inductive reasoning to guess the next two numbers of each sequence.

22. 1,827,064, ... 23. 100, —10, I, —5, . ..

Chapter Test

3-6

3-7

Complete.
1. If ALEG= AARM, then GL= _? and ARMA=_"1 .
2. In isosceles AABC, m/ A = 130. The legs are sides _?_ and _?
m/ B = _ ! (numerical answer).
3. You want to prove ARST = AXYZ by SAS. If you have ST = YZ and
/T= /Z, you must show that _? = .

154 / Chapter 3
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